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January ye 29: 1755
To an order to mr Jonathan parlin for four pounds ten
Shillings and Eight pence it Being for money which the
Town Borrowed of him for Barkers High way the full
of his Demands 4=10=8
                                                                                                                        

December ye 16: 1754
To an order to mr Nathan Robbins for one pound one Shilling
and one penny it Being for Labour at Hugh Fosters Bridge
the whole of his Demands 1=1=1
                                                                                                                        

at the Same time an order to mr Micah Robbins
for one pound one Shilling and four pence for the Same
Bridge the whole of his Demands 1=1=4
                                                                                                                        

December ye 18
To an order to mr William Cutting for Eight Shillings
and Nine pence it Being for the Same Bridge the
whole of his Demands 0=8=9
                                                                                                                        

December ye 23: 1754
To an order to mr Nathan Wheeler for Nineteen Shillings
and Eleven pence it being for the Same Bridge the
whole of his Demands 0=19=11
                                                                                                                        

at the Same time an order to mr Hugh Foster for Seventeen
Shillings and three pence it Being for the Same Bridge
the whole of his Demands 0=17=3
                                                                                                                        

January ye 15: 1755
To an order to mr Samuel Jones for fifteen Shillings
and one penny it Being for the Same Bridge the
whole of his Demands 0=15=1
                                                                                                                        

February ye 6: 1755
To an order to mr David Forbush for three Shillings
and Nine pence it Being for the Same Bridge the
whole of his Demands 0=3=9


